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Since one Gomasu and one bushel mass

rectangular solid bottom is square, volume —
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To make the squares,1go masu’ s one side|| 2,2744x2,2744 X 1,2534=6,4827 N N
is 2 sun 2" bu 77rin 4" mou 4 49X49X27=64,827 respectively.
1 h is1 sun 2"bu 57rin 3"mou 2. :
ts depth is Sl.m bu 57rin 3 mOl.J ~ Thus, the volume ratio is J:O—Cs _égIl:d)Ed)—ﬂd)Eé(i
However,one side of the 1 bushel is 4 sun
gAbUiS the helght of 2ASUH 1. 6.4827:64.287
In other words, 1 go ask in the law of =1-10 3 _I
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expressed this in a ratio, next to 1/10, and Is a relationship of similarity, similarity ratio
fix it to the side than the volume ratio, the 1: 3\/1710

Extraction of cube root , 4 bu 6 rin 4 mou
1633 next to it when applied to the length Thus. the
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one side of one bushel, resulting in the 49 \/12022’2744 3 ‘|

ength of 1 go one side. 2.] X W 2532(1 __I_Z \5r3%2)

In addition, when applying this to the becomes the length of one side of one \l

height of one bushel, resulting in a 1 go Gomasu, depth is .

neight.

2 go, 3 go,or,] can do with 5 bushel, the 2,7 X 3\/%=1,2532 Z: 0O, 5K

same way also to make 1 to, and the like.
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